
Probar	con	deducción	natural	

∃x	∃y	(	R(x,y)	∨	R(y,x)	)		,	¬∃x	R(x,x)		|⎯			∃x	∃y	¬(x	=	y)	
	

	

	

1	-		 ∃x	∃y	(	R(x,y)	∨	R(y,x)	)	 premisa	

2	-	 ¬∃x	R(x,x)			 premisa	

3	-		 R(a,b)	∨	R(b,a)	 elim	∃		1,	dos	veces	

4	-		 ∀x	¬R(x,x)		 ¬∃x	P(x)			≡			∀x	¬P(x)	

5	-	 	 a	=	b	 supuesto	

6	-		 	 ¬R(a,a)	 elim	∀		4	

7	-	 	 ¬R(b,a)	 elim	=	5,6	 (*)	

8	-		 	 R(a,b)	 corte	3,7	

9	-	 	 ¬R(a,b)	 elim	=		5,6	 (*)	

10	-		 ¬(a	=	b)	 	 int	¬	5,	8,	9	

11	-		 ∃y	¬(a	=	y)		 int	∃		10	

12	-		 ∃x	∃y	¬(x	=	y)	 int	∃	11	

	

	

(*)	 en	los	dos	casos	sólo	se	ha	sustituido	una	de	las	dos	constantes	a’s	que	aparecen	


